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@ 2~E%(Spooling)
@ DMA (Direct Memory Access)
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class Test {
public static void main(String[] args) {
int a = 101;

System.out.println((a>>2) << 3);

}
}
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olgje} o] IEEE 754 Fo| ulE
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HAE B54574(Single Precision Floating Point) %@ 129

Cws | ARR

@ 1000 0000 0000 0000 0000 0000 0000 1011
2 1000 0000 1011 0000 0000 0000 0000 0000
(3 1010 0000 0110 0000 0000 0000 0000 0000
@ 1100 0000 0011 0000 0000 0000 0000 0000
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@ @A 2=E (Register)

@ A4 |22 (Static Memory)
@ 7P ™22 (Virtual Memory)
@ ZYA w22 (Flash Memory)

B 12, C Zeade] A% A9 28 AL

#include <stdio.h>
int main( )
{
int 1, sum=0;
for(i=1; i<=10; i+=2) {
if(i%2 && i%3) continue;
sum += i
¥
printf(“%d\n”, sum);

return 0;
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o] =}, @ w-& AE(Quick Sort)
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@ t)AY EA2(Digital Forensics)
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g gme AL

o A¥siEz Y50l AL A, olF

Azt sk A9 H A (Optimal Solution) 7} -8 =4

o]-g-sked A<

52 A¥%(Dynamic Programming)
ot 118)E(Greedy Algorithm)
@ A E2Z1YY (Recursive Programming)

@ A} <arg]=(Approximation Algorithm)
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